
SCANIA
NO PART NO DESCRIPTION SPECIFICATIONS REFERENCE MODELS IMAGE

1 PE017.157-00A SLEEVE NUT M22x1,5x27/62/Ø30,5/53 UNIVERSAL ALL

2 PE023.604-00A HYDRUALIC PUMP 140 X 130 X 80 X M12 1 378 527 SCANIA

3 PE030.390-00A PILOT BEARING 25 X 62 X 17 / 2RS C4 2 196 742 SERIE 4

4 PE030.503-00A WASHER 25,5/37 x 79 x 7,5 1 733 441 SCANIA

5 PE032.041-00A BALL JOINT
M30 X 1,5 X 120 / Ø30 -  

L/H
1 611 088

MAN, MERCEDES, 

SCANIA, DAF, IVECO

6 PE032.042-00A BALL JOINT
M30 X 1,5 X 120 / Ø30 - 

R/H
1 603 789

MAN, MERCEDES, 

SCANIA, DAF, IVECO

7 PE041060128 FUEL SUPPLY PUMP MECHANICAL 1 539 298

8 PE070.254-20A
COUNTER NUT / LOCK 

NUT
M16 X 1,5 0 531 206 UNIVERSAL

9 PE070.950-10A WHEEL BEARING
60 X 130 X 48,5 / VKHB 

2227
369 624

BUS - SERIE 3, BUS - 

SERIE 4, CITARO, 

COMFORTCLASS, 

COMFORTCLASS 400, 

CONECTO, ECONIC

10 PE070.952-10A WHEEL BEARING 70 X 150 X 66

BUS - SERIE 3, BUS - 

SERIE 4, CITARO, 

COMFORTCLASS, 

COMFORTCLASS 400, 

CONECTO, ECONIC

11 PE070.969-10A WHEEL BEARING 90 X 147 X 40 / 218210
 1 524 625 - 1 698 

580

FH, FH 12, FH 16, FM 9, 

FM 12, SERIE 3, SERIE 

4, SERIE P,G,R,T

12 PE076.790-00A BRAKE CYLINDER, T24 24"  1 542 896

BUS - SERIE 4, BUS - 

SERIE F/K/N, SERIE 4, 

SERIE P,G,R,T

TRUCK PARTS



SCANIA
NO PART NO DESCRIPTION SPECIFICATIONS REFERENCE MODELS IMAGE

TRUCK PARTS

13 PE076.895-00A
FILTER HOUSING, AIR-

DRYER
M39 X 1,5 1 932 701 SCANIA

14 PE080.050-00A ALTERNATOR 
24V X 100A X 8 X Ø72 

(REPLACED BY PE081955007)
1 504 316  SERIE 4, SERIE P,G,R,T

15 PE080.109-00A SENSOR, PRESSURE
41 X 10,5 X 62,5 X Ø15,5 X 

6,5
1 882 892

BUS - SERIE 4, BUS - 

SERIE F/K/N, SERIE 4, 

SERIE P,G,R,T

16 PE080.358-00A
PE PRESSURE 

SWITCH 
 60/20xØ6xM18x1,5  1 348 509

17 PE080.365-00A
TEMPERATURE 

SENSOR
1660 x Ø5/16 1 377 930

18 PE080.709-00A RIBBED V-BELT 8PK 1553 1 888 464

19 PE080.738-00A V-BELT 8PK 1255 1 800 523 SERIE 4, SERIE P,G,R,T

20 PE080.739-00A V-BELT 8PK 2085 1 800 541 SERIE 4, SERIE P,G,R,T

21 PE080.747-00A V-BELT 10PK 2475 1 920 231
BUS - SERIE F/K/N, 

SERIE P,G,R,T

22 PE080.749-00A V BELT 8PK 1545 1 800 522 FH, FM, SERIES 4

23 PE080.754-00A V-BELT 8PK 2128 1 888 468
BUS - SERIE 4, SERIE 4, 

SERIE P,G,R,T

24 PE080.755-00A V-BELT 8PK 2222 1803333 SERIE 4



SCANIA
NO PART NO DESCRIPTION SPECIFICATIONS REFERENCE MODELS IMAGE

TRUCK PARTS

25 PE080.802-00A STARTER
24V / 5,5KW, (MONARK 

PE081261001)
2 031 368

BUS - SERIES 4, F/K/N, 

SERIES 4, P, G, R, T

26 PE080.814-00A STARTER 24V / 7KW 2 008 268 SERIES P,G,R,T

27 PE080.951-00A
SENSOR, COOLANT 

LEVEL
 80,5 X 40,5 X Ø7,5 / 16,5  1 374 052

12 SERIE S, BUS - 

SERIE F/K/N, SERIE 3, 

SERIE 4, SERIE P,G,R,T

28 PE080.966-00A
FUEL TANK SENDER 

UNIT
640 X 95 X 56 X Ø54  1 790 948

12 SERIE S, SERIE 

P,G,R,T

29 PE080.982-00A
AIR SUSPENSION 

LEVEL SENSOR
106x78xØ36x11xM6 1 934 586

30 PE080.991-00A RPM SENSOR 1945 x Ø17,5 x 7 1 457 304

12 SERIE S, BUS - 

SERIE 4, BUS - SERIE 

F/K/N, SERIE 4, SERIE 

P,G,R,T

31 PE081261001 STARTER 24V/5.5kw 1 447 911 Serie P,G,R,T

32 PE081499837 STARTER 24V / 7kW 1 447 912 Serie P,G,R,T

33 PE081955007 ALTERNATOR 28Vx100Ax8xØ72
REPLACES 

PE080.050-00A

12 Serie S, Bus - Serie 4, 

Bus - Serie F/K/N, Serie 

3, Serie 4, Serie P,G,R,T, 

Steyr King ZZ3316

34 PE084.202-71A AIR BELLOW DOUBLE FOLD, M12 1 319 761 SERIES 4

35 PE084.335-71A AIRBAG 430 X 286 X 228  1 944 314
BUS - SERIE F/K/N, 

SERIE P,G,R,T

36 PE084.633-00A LEVELING VALVE 2X Ø8,5 / 2X 6,5 1 430 545
CF75, CF85, KD, 

SB4000, XF95



SCANIA
NO PART NO DESCRIPTION SPECIFICATIONS REFERENCE MODELS IMAGE

TRUCK PARTS

37 PE084.661-00A PE RELAY VALVE  M16x1.5/M22x1.5  1 425 183

38 PE084.664-00A
SOLENOID CONTROL 

VALVE
M 22X1,5 X M22X1,5 1 453 761

BUS - SERIE 3, BUS - 

SERIE 4, BUS - SERIE 

F/K/N, SERIE 4, SERIE 

P,G,R,T, STRALIS

39 PE086.124-00A BRAKE LINING 413 X 203 1 109 003

BUS - SERIE 3, BUS - 

SERIE 4, BUS - SERIE 

F/K/N, SERIE 3, SERIE 4, 

SERIE P,G,R,T

40 PE086.125-00A
BRAKE LINING KIT, 

DRUM
413 X 254 X 19 / 4 1 535 250

BUS - SERIE 3, BUS - 

SERIE 4, BUS - SERIE 

F/K/N, SERIE 3, SERIE 4, 

SERIE P,G,R,T

41 PE086.424-00A SENSOR, ABS 1290 / 1150 1 530 700 SCANIA 

42 PE086.425-00A ABS SENSOR 2758 / 2675 1 365 526 SERIE 4

43 PE086.441-00A ABS SENSOR CABLE LENGTH [MM] 1000 1 892 047 SERIE 4, SERIE P,G,R,T

44 PE086.450-00A ABS SENSOR 2768/2675 1 M892 053

BUS - SERIE 3, BUS - 

SERIE 4, SERIE 3, 

SERIE 4, SERIE P,G,R,T

45 PE086.502-00A ABS SENSOR  2780 / 2620  1 892 050
Bus - Serie 4, Serie 4, 

Serie P,G,R,T

46 PE086.609-00A SENSOR, RPM 1830 X Ø18x7 1 457 303

BUS - SERIE 4, BUS - 

SERIE F/K/N, SERIE 4, 

SERIE P,G,R,T

47 PE098055204 FOG LIGHT 140x120x120/H1 1 852 572 SERIE P,G,R,T

48 PE120.073-00A CHARGE AIR HOSE 80 X 104 X 182 1 809 771
BUS - SERIES 4, F/K/N, 

SERIES 4, P, G, R, T



SCANIA
NO PART NO DESCRIPTION SPECIFICATIONS REFERENCE MODELS IMAGE

TRUCK PARTS

49 PE120.080-10A
WHEEL BEARING, 

COMPACT 
68 X 127 X 115 1 868 087

 SERIE 3, SERIE 4, 

SERIE P,G,R,T

50 PE120.091-00A
REPAIR KIT FOR CAB 

SUSPENSION
25/35 x 129 1 742 449 SERIE 4, SERIE P,G,R,T

51 PE120.094-00A POLLEN CAB FILTER 136 X 377 X 20 1 913 500 SERIES P, G, R, T

52 PE120.110-00A RUBBER BUFFER, CAB Ø54 X 45 1 349 805 VARIOUS

53 PE120.114-50A ENGINE MOUNTING 97 x 110,5 1 475 868
BUS - SERIE 4, SERIE 4, 

SERIE P,G,R,T

54 PE120.118-00A VIBRATION DAMPER 12,5 X 62 X 59 / M 10 1 343 100 SERIE 4, SERIE P,G,R,T

55 PE120.133-00A JOINT BEARING M12 X 16 1 744 211 SERIE P,G,R,T

56 PE120.147-00A SHAFT SEALING RING 85 X 105 X 18 KSRD 1 502 385

BUS - SERIE 4, BUS - 

SERIE F/K/N, SERIE 4, 

SERIE P,G,R,T

57 PE120.148-00A
SEALING RING HUB 

REAR
80 X 100 X 8/10 / B2SLWD 1 528 991 SERIE 3, SERIE 4

58 PE120.186-00A SOLENOID VALVE M24 / 1/8"NPT / 24V 1 488 083 SERIE 3, SERIE 4

59 PE120.196-00A ENGINE MOUNT 96 X 120 X 110 1 778 532 SERIE 4, SERIE P,G,R,T

60 PE120.207-00A PNEUMATIC SPRING 445 x 180 x 65N 1 761 668
SERIE 3, SERIE 4, 

SERIE P,G,R,T



SCANIA
NO PART NO DESCRIPTION SPECIFICATIONS REFERENCE MODELS IMAGE

TRUCK PARTS

61 PE120.209-00A CAB BEARING 16,5 X 60 X 64/80 2 129 313 SERIE 4, P, G, R, T

62 PE120.210-00A
REPAIR KIT, CLUTCH  

FORK
 1 737 306

BUS - SERIE 4, BUS - 

SERIE F/K/N, SERIE 4, 

SERIE P,G,R,T

63 PE120.211-00A
REPAIR KIT, CLUTCH  

FORK
1773621

BUS - SERIE 4, BUS - 

SERIE F/K/N, SERIE 4, 

SERIE P,G,R,T

64 PE120.214-00A
THRUST ROLLER, 

CLUTCH RELEASE
16 / 30 X 16 / 39  1 753 479

BUS - SERIE 4, BUS - 

SERIE F/K/N, SERIE 4, 

SERIE P,G,R,T

65 PE120.215-00A CAB BEARING 14 X 42 / 48.5 X 36.5/47  1 870 611 SERIE P,G,R,T

66 PE120.216-00A CAB BEARING 16,5 X 61,5 X 53 1 892 896 SERIE P,G,R,T

67 PE120.217-10A CAB REPAIR KIT  16.5 X 60 X 69  1 788 239 SERIE P,G,R,T

68 PE120.220-00A ENGINE MOUNTING 270 X 180 X 172 1 921 972
BUS - SERIE 4, F/K/N, 

SERIES 4, P, G, R, T

69 PE120.240-00A DEFLECTION PULLEY 74 X 39  2 129 402 SERIE P,G,R,T

70 PE120.243-00A BELT TENSIONER Ø74 X 38,5 2 191 989 SERIES 4, P, G, R, T

71 PE120.244-00A BELT TENSIONER Ø74 X 31 2 197 004 SERIE 4, SERIE P,G,R,T

72 PE120.245-00A BELT TENSIONER Ø74 X 39 1 870 553 SERIE P,G,R,T



SCANIA
NO PART NO DESCRIPTION SPECIFICATIONS REFERENCE MODELS IMAGE

TRUCK PARTS

73 PE120.249-00A BELT TENSIONER Ø74 X 38 2 197 003 SERIE 4, SERIE P,G,R,T

74 PE120.250-00A TENSIONER PULLEY Ø11 X Ø95 X 32 1 514 086
BUS - SERIE 4, SERIE 4, 

SERIE P,G,R,T

75 PE120.308-00A
SWITCH, AIR 

CONTROL
56 X 28 X 3 1 797 971

BUS - SERIE F/K/N, 

SERIE P,G,R,T

76 PE120.320-00A RELEASE BEARING 56 X 184 X 142 1 522 377 BUS - SERIES 4

77 PE120.323-00A DEFLECTION PULLEY Ø11 X Ø74 X 39 2 129 402 SERIE P,G,R,T

78 PE120.405-00A WATER PUMP Ø112 / 5 X Ø150 1 787 120

BUS - SERIE 4, BUS - 

SERIE F/K/N, SERIE 4, 

SERIE P,G,R,T

79 PE120.406-00A WATER PUMP Ø112/5 X Ø150 1 793 989 SERIE 4 P,G,R,T

80 PE120.409-00A
WINDOW WINDER 

MECHANISM
 R/H 1 366 848 Serie 4, Serie P,G,R,T

81 PE120.413-00A
WINDOW WINDER 

HANDLE
UNIVERSAL 1 346 181 SERIES 4

82 PE120.416-00A
WINDOW WINDER 

MECHANISM
 L/H 1 366 847 Serie 4, Serie P,G,R,T

83 PE120.420-00A WATER PUMP Ø120 / 6 X Ø193 2 224 112
BUS - SERIE F/K/N, 

SERIE P,G,R,T

84 PE120.424-00A WINDOW-SWITCH 45 X 36 X 8  1 863 514 SERIE P,G,R,T



SCANIA
NO PART NO DESCRIPTION SPECIFICATIONS REFERENCE MODELS IMAGE

TRUCK PARTS

85 PE120.425-00A WINDOW-SWITCH 45 X 36 X 8  1 863 515 SERIE P,G,R,T

86 PE120.427-00A  WINDOW-SWTCH 89 X 39 X 7  1 870 912
BUS - SERIE F/K/N, 

SERIE P,G,R,T

87 PE120.459-00A WIPER MOTOR  1 943 657 SERIE 4, SERIE P,G,R,T

88 PE120.510-00A FOG LAMP 120 X 120 X 100 / H1  - R/H 1 852 570 SERIES P, G, R, T

89 PE120.511-00A FOG LAMP 140 X 120 X 120 / H1 - L/H 1 852 572 SERIES, P,G,R,T

90 PE120.527-00A
ELECTRIC MOTOR- 

WINDOW 
24V, RH 1442292 SERIE 4, SERIE P,G,R,T

91 PE120.528-00A
ELECTRIC MOTOR- 

WINDOW
24V, LH 1442292 SERIE 4, SERIE P,G,R,T

92 PE120.557-00A FAN ASSY Ø750 X 11  2 035 612 SERIE P,G,R,T

93 PE120.573-00A CLUTCH BOOSTER 5800N / 26 1 513 717

BUS - SERIE 4, BUS - 

SERIE F/K/N, SERIE 4, 

SERIE P,G,R,T

94 PE120.577-00A
CLUTCH MASTER 

CYLINDER 
25.5 X 2 X M12 X 1.5 1114685

BUS - SERIE 4, BUS - 

SERIE F/K/N, SERIE 4, 

SERIE P,G,R,T

95 PE120.578-00A
CLUTCH SLAVE 

CYLINDER 
Ø38 X 9 X 129.5 1 754 943

BUS - SERIE 4, BUS - 

SERIE F/K/N, SERIE 4, 

SERIE P,G,R,T

96 PE121.004-00A KING PIN REPAIR KIT 40 / 45 X 224 550 284 SERIE 4, BUS



SCANIA
NO PART NO DESCRIPTION SPECIFICATIONS REFERENCE MODELS IMAGE

TRUCK PARTS

97 PE122.008-00A STEERING DRAG  LINK 1060 X Ø52  1 912 758 SERIE 4, SERIE P,G,R,T

98 PE122.015-00A DRAG LINK  443xØ40  2 007 286 Serie 4, Serie P,G,R,T

99 PE122.017-00A STEERING TIE ROD  1743xØ62  1 897 333

Bus - Serie 4, Bus - Serie 

F/K/N, Serie 4, Serie 

P,G,R,T

100 PE122.029-00A STEERING TIE ROD 1736 X Ø40 2 113 904

BUS - SERIE 3, BUS - 

SERIE 4, BUS - SERIE 

F/K/N, SERIE 3, SERIE 4, 

SERIE P,G,R,T

101 PE122.501-00A
POWER STEERING 

PUMP
M16 X 1,5 / M26 X 1,5 1 457 710

BUS - SERIES 4, F/K/N, 

SERIES 4, P, G, R, T

102 PE123.001-00A
STABILISER 

MOUNTING
20x55,5/57x30

BUS - SERIE 3, BUS - 

SERIE 4, BUS - SERIE 

F/K/N, SERIE 3, SERIE 4, 

SERIE P,G,R,T

103 PE123.002-00A
STABILISER 

MOUNTING
38/56 X 117 213604

BUS - SERIE 3, SERIE 3, 

SERIE 4, SERIE P,G,R,T

104 PE123.008-00A
STABILISER 

MOUNTING
65x85.5/103x89/104 1 344 190

Bus - Serie 4, Serie 3, 

Serie 4, Serie P,G,R,T

105 PE123.119-00A SHOCK ABSORBER 417 / 712 1 914 903
SERIES 3, 4, SERIE P, 

G, R, T

106 PE123.121-10A SHOCK ABSORBER 439 / 709 X 22
1 861 118            

125 997

SERIES 2, 3, 4, P, G, R, 

T SACHS

107 PE123.132-00A
SHOCK ABSORBER, 

CAB
210 / 305 X Ø44

1 424 227,           

105 871,  105 872,  

290 987,  290 988

SERIES 4, P, G, R, T, 

SACHS

108 PE123.133-00A
AIRSPRING BELLOW, 

CAB
AIR BELOW 1349840 SERIE 4, SERIE P,G,R,T



SCANIA
NO PART NO DESCRIPTION SPECIFICATIONS REFERENCE MODELS IMAGE

TRUCK PARTS

109 PE123.141-10A SHOCK ABSORBER 435 / 720 X Ø22 1 867 874 SERIE 4, SERIE P,G,R,T

110 PE123.143-10A SHOCK ABSORBER 475/800 X Ø16 / 20  2 031 227 SERIE 4, SERIE P,G,R,T

111 PE123.150-10A SHOCK ABSORBER 535 / 895
1 519 629,              

131 063

SERIES 4, P, G, R, T,  

SACHS

112 PE123.152-10A SHOCK ABSORBER 494 / 825 X Ø20/20
1 519 632,             

311 893

SERIES 4, P, G, R, T,   

SACHS

113 PE123.153-10A SHOCK ABSORBER 540 / 910 X Ø20 / 20 1 380 427 SERIE 4, SERIE P,G,R,T

114 PE123.160-00A
CAB AIRSPRING 

BELLOW
1 502 468 SERIE 4, SERIE P,G,R,T

115 PE123.162-00A
SHOCK ABSORBER, 

CAB
240 / 340 / Ø14 / 50 1 502 471 SERIES 4, P, G, R, T

116 PE123.165-00A
SHOCK ABSORBER, 

CAB
215 / 315 1 381 903 SERIES 4, P, G, R, T

117 PE123.167-10A SHOCK ABSORBER 560/950 X Ø16/20  1 854 537
BUS - SERIE F/K/N, 

SERIE 4, SERIE P,G,R,T

118 PE123.215-00A AXLE STRUT 568.5 X Ø19 X 115 X 24 1 486 757 SERIE 4, SERIE P,G,R,T

119 PE123.232-00A AXLE STRUT LENGTH [MM] 523 1 782 019 SERIE 4, SERIE P,G,R,T

120 PE123.233-00A AXLE STRUT 570xØ19x115x24 1782023 SERIES 4, P, G, R, T



SCANIA
NO PART NO DESCRIPTION SPECIFICATIONS REFERENCE MODELS IMAGE

TRUCK PARTS

121 PE123.236-00A AXLE STRUT 570 X  Ø19 X 115 X 24 1 486 756 SERIE 4 P,G,R,T

122 PE123.254-00A AXLE STRUT 580,54 X Ø19 X 115 X 24 1 782 024
BUS - SERIES 4, SERIE 

P,G,R,T

123 PE123.263-00A FRONT CAB SHOCK  280/380x47/68  1 870 615 Serie P,G,R,T

124 PE123.616-00A CAB LIFT PUMP
130 X 120 X 80 X M12 X 

1,5 / M14 X 1,5
2 204 436 SERIE P,G,R,T

125 PE123.618-00A
HYDRAULIC 

CYLINDER 
 Ø60 / 40 X 582  1 848  921 SERIE P,G,R,T

126 PE123.651-00A
HYDRAULIC 

CYLINDER 
 Ø60 / 40 X 650 1 549 738 SERIE 4, SERIE P,G,R,T

127 PE123.654-00A
PE HYDRAULIC 

CYLINDER 
 Ø55/28/16x696  1 720 924

128 PE123.655-00A
HYDRAULIC 

CYLINDER
Ø60 / 40 X 701 1 720 925 SERIE P,G,R,T

129 PE123.657-00A PE LOCK MECHANISM Ø12,5x48/83 1 810 345 SERIES 4, P, G, R, T

130 PE125.011-10A U-BOLT M24/105 X 306  2 030 493 SERIE 4, SERIE P,G,R,T

131 PE126.061-00A SLACK ADJUSTER
Ø16 X 165 / 25 - 10 SPLINE 

- L/H
1 865 747

BUS - SERIES 3, 4, 

F/K/N, SERIES 4, P, G, 

R, T

132 PE126.062-00A SLACK ADJUSTER
Ø16 X 165 / 25 - 10 SPLINE 

- R/H
1 865 748

BUS - SERIES 3, 4, 

F/K/N, SERIES 4, P, G, 

R, T



SCANIA
NO PART NO DESCRIPTION SPECIFICATIONS REFERENCE MODELS IMAGE

TRUCK PARTS

133 PE126.091-00A BRAKE DRUM 413 / 178 1 414 152

SERIES 3, 4, SERIE P, 

G, R, T, BUS SERIES 3, 

4

134 PE126.096-10A
PE AIR DRYER 

CARTRIDGE 
 140x178x1 1/4  2 562 323

BUS - SERIE 4, BUS - 

SERIE F/K/N, SERIE 4, 

SERIE P,G,R,T

135 PE126.100-00A BRAKE DISC Ø430 X 131 X 45 / 18 1852817

BUS - SERIE 4, BUS - 

SERIE F/K/N, SERIE 4, 

SERIE P,G,R,T

136 PE126.100-60A BRAKE DISC Ø430x131x45/11.5  1 852 817

Bus - Serie 4, Bus - Serie 

F/K/N, Serie 4, Serie 

P,G,R,T

137 PE126.115-00A AXLE NUT M60 X 2 X 20 1 873 183 SERIES 4,  P, G, R, T

138 PE126.133-00A SEALING RING  75 X 100 X 10 / 13 / RWDR
75 X 100 X 10 / 13 / 

RWDR
2 057 586

139 PE126.310-50A SLACK ADJUSTER Ø16 X 165 / 65 / 84°  1 789 567

BUS - SERIE 4, BUS - 

SERIE F/K/N, SERIE 3, 

SERIE 4, SERIE P,G,R,T

140 PE126.311-50A SLACK ADJUSTER Ø16 X 165 / 65 / 84°  1 789 568

BUS - SERIE 4, BUS - 

SERIE F/K/N, SERIE 3, 

SERIE 4, SERIE P,G,R,T

141 PE126.850-00A AIR COMPRESSOR TWIN, WATER COOLED 1 796 663

BUS - SERIE 4, BUS - 

SERIE F/K/N, SERIE 4, 

SERIE P,G,R,T

142 PE127.028-00A WHEEL NUT
7/8'' - BSF X 26 / Ø45,5 - 

R/H
2 285 273

BUS - SERIE 3, BUS - 

SERIE 4, BUS - SERIE 

F/K/N, SERIE 3, SERIE 4, 

SERIE P,G,R,T

143 PE127.517-00A WHEEL STUD 7/8'' - 11 BSF X 85 1 528 712

BUS - SERIE 4, BUS - 

SERIE F/K/N, SERIE 4, 

SERIE P,G,R,T

144 PE128.400-00A DOOR HANDLE, L/H 276 x 195 x 103 2 371 254 SERIE P,G,R,T



SCANIA
NO PART NO DESCRIPTION SPECIFICATIONS REFERENCE MODELS IMAGE

TRUCK PARTS

145 PE129.004-00A FUEL CAP, LOCKABLE B 60 A, LOCKABLE 1 481 301
BUS -  SERIES 4, 

SERIES P, G, R, T

146 PE129.005-00A SURGE TANK 444 X 233 X 279 2 401 668 SCANIA

147 PE129.011-00A THERMOSTAT 80° 1 745 449 SERIES P, G, R, T

148 PE129.014-00A THERMOSTAT 83° 1 404 924 SERIES 4

149 PE129.017-00A THERMOSTAT 80°C / 87°C 1 423 451
BUS - SERIE F/K/N, 

SERIE 4, SERIE P,G,R,T

150 PE129.050-00A TUBE CLAMP 110x130x25 1 355 963

BUS - SERIE 3, BUS - 

SERIE 4, BUS - SERIE 

F/K/N, SERIE 4, SERIE 

P,G,R,T

151 PE129.800-00A COMPRESSOR SD7H15 / Ø119 / 24V 1 888 034 SERIES 4, P, G, R, T

152 PE129.801-00A COMPRESSOR SD7H15 / Ø120 / 24V 1 888 032 SERIE P,G,R,T


